Simplifying Radicals

1. Simplify.

a.x/ﬁ b.\/% c.\/E d.\/% e.\/ﬁ f.\/@

2. Simplify.

M4 Vio o o Jeo VA0 V33 V7

3. Simplify

a. \/Ex\/ﬁ b. \/§><\/€ C. \/Ex\/g d. ﬁx\/ﬁ e. 4\/§><\/7 f. 3\/€><3\/8
4. Simplify

. 10+1545 X 21-7J6 . 6++/8 ; 12-27 . ~10-+/50 ; —12++/48
. . . - — . 3 . . . 1

5. Simplify

622 +7V2-32
V2-3V2-9V2+11W2

a. 245 +3J5+65
d. 5VT+37 =247

6. Simplify.

a. 5\/§+2\/6+3\/§
d. 7J6 41313 ++/6

C4B+2\3 -3
. 810 —2/10-74/10

on
o

o
=

8537 +7VT - 45
127 +9-3J7 +4

22 +3V10 +5v2 - 4410
ON11-11+6+14 =314 -24/11

on
o

o
=

7. Simplify

a. V124427 b. V20 ++/45 c. V1§ -8

d. /50 ++/98 -2 e. V75 +/48 +427 f. 54 +324 472 =32
8. Simplify.

a. 847 +24/28 b. 3/50 —24/32 c. 5v27 + 448

d. 38 +/18 +3/2 e. /5 +245-320

9. Expand and Simplify

43 +320 - 2412 +/45

g

a. V2(v10+4) b. V3(v6-1) c. V6(v2+6)

d. 242(3V6 -3) e. V2(\3+4) £. 3v2(2v6 ++10)
10. Rationalize the denominator.

L U )
3 5 7 2 23 18



11. Rationalize the denominator.

1

a. b.
J§+2
Answers:
1. a. 2x/§ b.
2. a. \/5 b.
3.a.2J5 b
4.2.243J5 b.
5.a. 115  b.
6. a. 83 +24/6
e. 13497
7.a. 543 b.
8.a. 1247  b.
9.a. 24/5+42
e. \/€+4\/§
10. a. 3 b
3
11. a. 2-V2
2
; 276 -243

3

3 2
G-l T Je-3
2x/§ C. 3\/5
\/g C. 2x/§
32 c. 5\/5
3-J6 . 3+42
53 c. W2

b. 45 +47

f. 6v/11+314
5\/§ C. \/5
72 c. 3143

b. 332 -3

£ 1243465
25 W7
5 “ T

b 3+3J§

4
e. /5 ++2

L2 .3 ; V3
Je+3 T 5-V2 B2
d. 52 e. 246 £ 37
d. 242 e. V11 f g
d. J77 e. 421 f. 54
d 4-V3 e 2-V2 £ -3+3
d. 647 e. —/10 £.0
c. 72 =10 d. 8J6 —5v13
d. 1142 e. 1243 f. 56
d. 1242 e. \5 f. 945
c. 2346  d. 12J3-2v6
J2 5J15 2
4. X< e, N2 £ =
2 6 3
. _3J§+2J§
' 3
f.3-6



